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Alternating Series

For most of the tests we have used, the series have involved positive terms. Some series have terms that

are both positive and negative. The simplest of such series an alternating series, whose terms alternate
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- Alternating series occur when either the odd terms are negative or the even terms are negative.
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Alternating Series Test
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Example 1: Determine the convergence or divergence of Z (—1)n+t
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Example 2: Determine the convergence or divergence of i n -i n
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Example 3: Cases in which the Alternating Series Test Fails
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Alternating Series Remainder

Forconvergent alternating series, the partial sum S,, can be a useful approximation for the sum § of
the series.

If a convergent alternating series satisfies the condition a,,;; < a,, then the absolute value of the
remainder R,, involved in approximating the sum of the series by a partial sum is less than (or equal to)

the first neglected term. That is,
I}S‘_S\nl — IR*rs,l = ‘a‘n+1 "'\

VAR \ d

AcvaL v{h“‘ fWJMQ Rewmarndor $lesT @;t‘“&a
S < ( evvor) A
oF

D (Y0




AP Calculus BC Day 17.gwb - 7/9 - Mon Jan 30 2017 07:21:08

Example 4: Approximate the sum of the following series by its first six terms.
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Example 5: Approximate the sum of the following series by its first six terms.
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with an error less th

Example 6: Determi@ber of terms required to approximate the sum of the convergent series
0.001.
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